x1073

o
N
X
N
(=]
&
o
N

<d @> (rad)
o
=
a1
o
=

< dcotl>)
o
=
a1

o
oy
TIrTT
e
+

o 0.05

o -0.05

o
TIT [T T [ TI [T T T[T I [T T[rrrT

N -0.15

-0uaf— sl

|
o
o

io

Ratl

iy
TTTT T T

1 1

52’%

10 1 1 2 10 1 2 10
0 TP poT (PCA tloobeamllnef) TP poT (PCA tloobeamllnef)
—=— DQM_ttbarPU_mkFit_5iter

—e— DQM_ttbarPU_mkFit_5iter_updatedPR111_update

—— DQM_ttbarPU_mkFit_5iter_updatedPR111_update_fixPropagation

100 T T T = 100

EF 5 § F :
N 80:— """"""""""""""""" """""" = 80_— """""""""" """"
T TR SRRIIN s S NClo| SRR [N SR o
° 40of i VTS 0 RO S b
20F \r pJo| TR O SEPEPURPPIR S
OF 't OF "+++ i h,-.i;’#* +T
~20f L S L e
-40F o S| =R EEPURN ERPRPR RS |
O R R e s ~60F [+ fromen e
10 ot £ O O SRR e ] IR ITTN SRR
o 100F b 1o0E e
E 1,055—- | E 1_
E 5 0.9F
1 ' froeeeeeeees 08
*To 1 10 62 - 10° "o 1 o 02 . 10°
TPp, (PCA t]b beamllné‘? TPp, (PCA t]b beamllné‘f)

<opyp, > ()

.........................................

Ratio

0.95 .
101 1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


